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Model Summary

Model R R Square  Adjusted R Square Std. Error of the Estimate
1 .918% .843 .829 4.225

a. Predictors: (constant) |, EJ/E,'J
Coefficients®

Unstandardized Coefficients Standardized Coefficients )
Model t Sig.
B Std. Error Beta
1 (Constant) -150.971 26.748 -5.644  .000
EJ/FJ,IJ 1.252 163 918 7.699 .000

a. Dependent Variable: ﬁg;j

Z o BiEERE (30% )

. bottom-up processes

. change blindness

. egocentrism (hint: Jean Piaget EW@[%!T)

. difficult temperament (hint: Thomas & Chess f/jH4 )
. strange situation (hint: Mary Ainsworth Ef@l@lﬁ)

. self efficacy

. hallucination

. phonological loop (hint: ﬁlr:t'[‘%“:"“ IR

. Triarchic theory of intelligence ( Hint: Robert Sternberg gfj@%ﬁ)
10. group polarization effect
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